Adger and Ramchand 2005 Merge and Move

Thuirt 

Iain 
gun do 
cheannaich 
thu 
leabhar 
[an diugh]. 

say.past 
Iain 
that past
buy.past 

2s 

book 


today 

‘Iain said that you bought a book today.’

An 

robh 





thu sgìth? 

inter 
be.past.dep

2s tired 

‘Were you tired?’

Dh’fhaighnich 
e


an 


robh 


thu 
sgìth. 

ask.past 





3sm
inter
be.past 
2s 

tired 

‘He asked if you were tired.’

Cha robh mi sgìth. 

neg be.past I tired 

‘I wasn’t tired.’

Nach 



robh 

thu sgìth? 

Neg.inter
be.past
2s tired 

‘Weren’t you tired?’

Thuirt 

Iain nach 
do 

cheannaich thu 
leabhar [an diugh]. 

say.past 
Iain neg 

past

buy.past 

2s 

book 


today 

‘Iain said that you didn’t buy a book today.’

Dh’fhaighnich

e 


nach


robh 


thu 

sgìth. 

ask.past 





3sm 
neg.inte
be.past 
2s 


tired 

‘He asked if you weren’t tired.’

Note: AZSGP speaker prefers a quotative (direct speach) interpretation

*Cò 
an 


robh 




sgìth? 

who 
inter 
be.past.dep
tired 

‘Who was tired?’

Note: UNGRAMMATICAL

Cò 

(a) 

bha 


sgìth? 

who 
wh-C
be.past
tired 

‘Who was tired?’

Note: Relative clauses and wh-questions in Gaelic appear to involve the same basic structure. For example, wh-questions employ the relative complementizer rather than the yes/no one.
Note  (a) is normally deleted due to adjacent vowel.

’S 

e 

Iain 
a 

bha sgìth. 

Cop 3sm 
Iain 
wh-C
be.past tired 

‘It is Iain that was tired.’

Note: cleft use of relative complementizer a. reduced copula 'S, followed by "pronominal element" e, followed by clause introduced by relative complementizer a
’S 

e 

Daibhidh 
an tidsear. 

Cop 
3sm 
David 

the teacher 

‘David is the teacher.’

Note: relative clauses are basic, wh-questions and clefts are built from RC and additional material. clets are introdued by the copula + pronoun cluster, the same found in equatives
Cò 
an 

tidsear? 

who the teacher 

‘Who is the teacher?’

Cò 
a 


bha 

sgìth? 

who 
wh-C 
be.past 
tired 

‘Who was tired?’

Thuirt 
sinn 
gun
do 
sgrìobh 

i 

an leabhar. 

say.past
1p 
that 
past
write.past 
3sf
the book 

‘We said that she wrote the book.’

Dè 
a 

thuirt 
sibh 


a 

sgrìobh 

i? 

what
wh-C
say.past 
2s.polite 
wh-C
write.past 
3sf 

‘What did you say that she wrote?’

*Dè 
a 

thuirt 
sibh 

gun
do 
sgrìobh 

i? 

what 
wh-C
say.past
2s.polite
that 
past
write.past 
3sf 

‘What did you say that she wrote?’

Note: UNGRAMMATICAL

Dè 
an 

seòrsa 
tidsear 
a 

tha 
annad? 

what 
the 
sort 

teacher 
wh-C is 

in.2s 

‘What sort of teacher are you?’

*Tha 

tidsear 
math 
annad. 

be.pres
teacher 
good 
in.2s 

for ‘You are a good teacher.’

Note: UNGRAMMATICAL

'S

e 

tidsear 
math 
a

th'


annad. 

Cop
3sm
teacher 
good 
wh-C
be.pres
in.2s 

for ‘You are a good teacher.’

Note: form offered by AZSGP speaker for "you are a good teacher" (not in Adger & Ramchand)

Chuir 
thu 
am 
peann

anns 

a’ 

bhocsa. 

put.past 
2s 

the 
pen 

in.def

the 
box 

‘You put the pen in the box.’

Note: definiteness agreement
Dè
 

am 
bocsa 
a 


chuir 

thu 
am 
peann 
ann. 

which 
the 
box 

wh-C 
put.past 
2s

the 
pen 

in.3s 

‘Which box did you put the pen in?’

Note: evidence that wh-formation is not movement. definite wh-expression. stranded preposition does not show definiteness agreement
*Dè 

am bocsa 
a 

chuir 

thu 
am peann 
anns. 

which 
the box 

wh-C
put.past 
2s 

the pen 

in.def
‘Which box did you put the pen in?’

Note: evidence that wh-formation is not movement. definite wh-expression. stranded preposition does not show definiteness agreement
Note: Ungrammatical

Ann 
dé 
a 

chuir 

thu 
am 
peann

in 

what wh-C 
put.past
2s

the
pen

In what did you put the pen

Note: P wh order is only ok with stress on Ann dé. It also gets an echo question reading

Note: Sentence not in A&R, it was produced by AZSGP speaker

*Dé 
am 
bosca 
ann 
a 


chuir 

thu 
am peann

what 
the 
box 

in

wh-C 
put.past 
you 
the pen

"in what box did you put the pen"

Note: Ungrammatical

Note: Normally the P and N invert when fronted. This is not possible here.

Note: Sentence not in A&R, it was produced by AZSGP speaker

Bha 

thu 
a’

geàrradh
na craoibhe. 

be.past 
2s 

prog
cut.vn 
the tree.gen 

‘You were cutting the tree.’

Note: present participles mark their compliment with genitive Case
Dè 

a’ 

chraobh 
a 

bha 

thu 
a’

geàrradh? 

which 
the 
tree 

wh-C
be.past 
2s 

prog
cut.vn
‘Which tree were you cutting?’

Note: evidence that wh-formation is not movement from predicative case assignment. "moved" wh-element from compliment position with present participle is always nominative. if the wh-element was moved, it should be genitive.
*Dè 

na 

craoibhe 
a 

bha 

thu 
a’

geàrradh? 

which 
the 
tree.gen 

wh-C
be.past 
2s 

prog
cut.vn 

‘Which tree were you cutting?’

Note: evidence that wh-formation is not movement from predicative case assignment. agrammatical case of "moved" wh-element from compliment position with present participle. it should be nominative.
Note: UNGRAMMATICAL

Bidh 

e 

a’

toirt 

sop 
às 

gach seid. 

be.fut 
3sm 
prog
take.vn 
wisp 
from 
each bundle 

‘He’s not a very concentrated or focused person.’

Note: Idiom

’S 

ann 

às 

gach seid 

a 

bhitheas
e 

a’

toirt 

sop. 

Cop 
in.3sm 
from
each bundle
wh-C
be.futrel
3sm
prog
take.vn 
wisp 

*‘He tries his hand at everything.’ 

OK ‘It’s from every bundle that he takes a wisp.’

Note: Form loses its idiomatic meaning when clefted.

’S 

toil 

leam 

am peann
 aige 

ge-tà 

a 

bha 

Iain 
a’
Cop 
liking

with.1s 
the pen 

at-him 
however
wh-C be.past 
Iain 
prog 

sgriobhadh leis. 

writing with 

‘I like his pen that Iain was writing with.’ 

impossible with his = Iain’s, OK otherwise

Note: evidence that wh-formation is not movement from Condition C reconstruction effects. No reconstruction

Cheannaich 
e 

an 

dealbh
de
dh’Iain 
[an dè.]
buy.cond 

3sm 
the
picture 
of
Iain 

[yesterday] 

‘He bought the picture of Iain yesterday.’ 

impossible with he = Iain

Note: evidence that wh-formation is not movement from Condition C reconstruction effects.
Dè 
an 

dealbh 
de 

dh’Iain 
a 

cheannaich 
e 

[an dè] ? 

what 
the 
picture 
of 

Iain 

wh-C
bought 

3sm 
yesterday 

‘Which picture of Iain did he buy yesterday?’ 

Note: A&R report as OK with he = Iain, AZSGP speaker disagrees
An 


e 

e 

fhèin 

a 

choisinn [an diugh?] 

Cop.inter 
3sm 
3sm
himself 
wh-C
win.past [today] 

‘Was it him that won today?’

Note: all SG anaphors have logophoric use, therefore it is difficult to argue against movement using Condition A reconstruction effects.
?
Dè 

am 
fear
de
na

peannan
aige 
fhèin 

a 

bha 

Iain 


which 
the 
one 
of
the
pens 

at 

himself 
wh-C
be.past
Iain 
a’ 

sgrìobhadh
leis?
prog
write.vn 

with.3sm 

‘Which one of his own pens was Iain writing with?'

Note: wh-expressions containing anaphors are interpretable, but degraded
Note: marginal grammaticality

*’S 
e 

caileag 
bheag 
a 

bha 

thu 
a’

bruidhinn 
rithe 

Cop 
3sm 
girl 

small.f 
wh-C
be.past 
2s 

prog
speak.vn 
with.3sf 

‘It was a small girl that you were talking to.’

Note: AAE (anti-agreement effect) in SG. AAE when the complement of a preposition was extracted.
Note: UNGRAMMATICAL

’S 

e 

caileag
bheag 
a 

bha 

thu 
a’

bruidhinn
ris. 

Cop 
3sm 
girl 

small.f 
wh-C
be.past 
2s 

prog 
speak.vn 
with.3sm 

‘It was a small girl that you were talking to.’

Note: AAE (anti-agreement effect) in SG. AAE when the complement of a preposition was extracted.
*’S 
e 

caileag 
bheag 
a 

bha 

thu 
a’

bruidhinn 
ri. 

Cop 
3sm 
girl 

small.f 
wh-C
be.past 
2s 

prog 
speak.vn

with 

‘It was a small girl that you were talking to.’

Note: AAE (anti-agreement effect) in SG. AAE when the complement of a preposition was extracted.
Note: A&R report this as ungrammatical, AZSGP speaker accepts this form.

*Dè 

an 

t-òran

nach 


eil 


duine

[sam bith] 
ag 

èisdeachd 

which 
the 
song 

neg.wh-C
be.pres.dep
person 
[any] 


prog
listen.vn 
ri 
Iain ged 


a 


tha 

e 
a’

seinn?
to 
Iain although 
wh-C 
be.pres 
he prog
sing.vn 

‘Which song isn’t anyone listening to Iain even though he is singing?’

Note: adjunct island
Note: UNGRAMMATICAL

*Cò (a) 

bha 

a’ 

pògadh cò? 

who wh-C 
be.past 
prog
kiss.vn who 

‘Who kissed who?

Note: SG does not allow multiple wh-questions. wh-questions are therefore wh-clefts. if wh-questions were a case of moving operators to the specifier of CP in relatives multiple wh-questions would be allowed.
Note: UNGRAMMATICAL

Note: There seems to be speaker variability in this. AZSGP reports that this is ok.

*Cò
a’

chaileag
a

phòg 

thu 
gun 

a

bhith 
air 
bruidhinn 
ris? 

who
the
girl

wh-C kiss.past
2s

without
tran
be.vn
perf 
talk.vn 

to.3sm 

‘Which girl did you kiss without talking to?’

Note: parasitic gaps are disallowed in SG relatives, and the questions formed from them
Note: UNGRAMMATICAL

*Seo
a’

chaileag
a

phòg 

thu
gun

a 

bhith
air 
bruidhinn 
ris. 

prox
the 
girl

wh-C kiss.past
2s

without 
tran 
be.vn
perf 
talk.vn 

to.3sm
‘This is the girl that you kissed without talking to.’

Note: parasitic gaps are disallowed in SG relatives
Note: UNGRAMMATICAL

